=R Bx [N

ANT FA TI”BahttZ 4 2022-01 kit =K

EmhedESEHE LS E/Ej A\'f‘; 2P| KitE

i THe
yat, AN EGER BeErR | SMEE  bukorder

os | xm | mm | WE | Awm |caoe BREE g | pgm
HQ-GHSN . 1
“HQ-GHS2N | BER | ERE )
oSN mar | mma L k@t | E@s |ssRO~| B
HQ-GHSNP BHE
e arolE | B 1
HQ-GHS2NP e 2
REEHR
B
.G L1
L2
C
D 4-Mx ¢
| el 6 J Ue
PEN7Z 7 — | —
|Z A I L] |
P

(1 Zye=s - ®H - ©L - osEmnks

HQ-GHSN - H28 - L200

HQ-GHSN - H28 - L500 - z2

\=§'-£=5 oL Hi N BRSNS
oHKs OH w B © L2 Ly MX2 T G Hz

28 4.3 9.5 34 26 26 39.5 60.5 | M4x5 6 5.3 7.95

HQ-GHSN 30 4.6 12 44 32 36 50.5 767 | M5X6 8 12 6

HQ-GHSNH 40 5.5 12.5 48 35 35 58 84 M6X8 8 12 10

HQ-GHSNP 45 |100~4000| & 16 60 40 40 70 98.4 | M8X10 | 85 12 9.5

HQ-GHS2N

HQ-GHS2NH | 55 7.5 18 70 50 50 80 112.4 | M8x12 | 10.2 12 16

HQ-GHS2NP | 70 9.5 20.5 86 60 60 97 1374 | M10X17| 16 12.9 18.5
80 13 23.5 100 75 75 1177 | 1167 |Mi2x18| 175 12.9 22

S BIRY HA L=%: E
= o -
oxs OH | We | Ha D h d P | mmgery | PRARE| BETAR | #x | A

28 15 15 7.5 5.3 4.5 60 M4X16 11.38 16.97 018 | 1.45

HQ-GHSN 30 20 175 9.5 8.5 6 60 M5X16 17.75 27.76 03 | 2.21

HQ-GHSNH 40 23 22 11 9 7 60 M6X20 26.48 36.49 051 | 3.21

HQ-GHSNP 77 28 26 14 12 9 80 M8X25 38.74 5219 0.88 | 4.47

HQ-GHS2N

HQ-GHS2NH | 55 34 29 14 12 9 80 M8X25 49.52 69.16 1.45 | 6.30

HQ-GHS2NP | 70 45 38 20 17 14 105 M12x35 7757 102.71 273 | 10.41
80 53 44 23 20 16 120 M14X45 114.44 148.33 417 | 15.08

AMEREARESERAEE [REFLIHE] P ? SHE “SARAR"

Sqnwm &

©
BT QEMRE R
EREMBRI=HLE OH
B 2978 KD 2-8 IR, HEREASNE .
TAEREE N fl: HQ-GHSN-H28-11000-Z24 28
1000 KWSH EESE 5 HHBIR
B BREE S E 30
Eifr P 54 2-8 IR, FHEIRELE 40 042 0.33 0.33
SEREE #: HQ-GHSN-H28-L1000-ZB4 45 0.66 0.53 0.53
1000 KAVSEN _EAREE 1 B3R, B 4 BB, 55 116 0.81 0.81
& ERERAR AR EME 70 1.98 1.55 1.55
=) 10~

100% STRM

0001 ERFRARESERBBE LN www.ant-fa.com



